9.2 Factor Trinomials

PRACTICE

| Check lhﬂk' Multiply out the factored form to see if it matcl;g_gle polynomial.

1.Is (x + 6)(x — )the factored form of x2 — 3x — 30 ? 2. s (x + 4)(x — 7) the factored form of x2 — 3x — 28 ?
3. 1s (mx + 3) the factored form of xZ — x — 12 ? 4. Ism(in — 3] the factored form of m? — 3 ?
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26. Simplify
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29. Write the equation of the linear
function for the situation below.

Bob has 47 dollars and spends 3
dollars every 2 weeks.

m=41-3 ¢

30. Write the equation of the
exponential function for the situation.

Bob has 47 dollars and doubles his
money every 3 weeks.
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